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Answers 
 

Q1  a) 𝑥 = 𝑡 − 𝑦 b) 𝑥 = 𝑎 + 𝑏 c) 𝑥 = 2𝑐 + 𝑑  

  d) 𝑥 = −𝑒 e) 𝑥 = 𝑓 − 𝑔 f) 𝑥 =
1

3
𝑦    or    𝑥 =

𝑦

3
    

  g) 𝑥 =  
𝑎

𝑏
 h) 𝑥 =  

𝑦

𝑎𝑏
 i) 𝑥 = 𝑎𝑛 

  j) 𝑥 = ±√𝑦  k) 𝑥 = 𝑔2 l) 𝑥 = 𝑎(𝑏 + 𝑐) 

       or   𝑥 = 𝑎𝑏 + 𝑎𝑐    

  m)  𝑥 =  
𝑦

𝑎2 n) 𝑥 = 𝑝2𝑞2   or    𝑥 = (𝑝𝑞)2 o) 𝑥 = 𝐴3 

         

Q2  a) 𝑥 =
𝑡 − 𝑦

2
   b) 𝑥 =

𝑎 + 𝑏

𝑢
 c) 𝑥 = 𝑎(𝑣 − 2𝑢)  

   or  𝑥 =
1

2
(𝑡 − 𝑦)    or    𝑥 = 𝑎𝑣 − 2𝑎𝑢   

  d) 𝑥 = 𝑛(𝑑𝑒 + 3𝑓) e) 𝑥 =
𝑗 − ℎ

𝑖
 f) 𝑥 =

𝑏 − 𝑦

𝑎
 

   or   𝑥 = 𝑑𝑒𝑛 + 3𝑓𝑛          

  g) 𝑥 =
𝑦 − 𝑎

𝑏
 h) 𝑥 =  

𝑎𝑛

𝑔
 i) 𝑥 =  

𝑎

𝑏
 

  j) 𝑥 = ±√ 
𝑦

𝑎
   k) 𝑥 = √ 

𝑦

𝑎2 
3

 l) 𝑥 = ± √ 𝑎𝑛   

  m) 𝑥 =  
𝑅2

ℎ2    or   𝑥 =  (
𝑅

ℎ
)

2

     n) 𝑥 = 𝑎2𝑡2   or    𝑥 = (𝑎𝑡)2 o) 𝑥 =  
𝑝2

𝑞2    or   𝑥 =  (
𝑝

𝑞
)

2

 

 

Q3  a) 𝑥 = 𝑝2 − 𝑑 b) 𝑥 = ±√ 
𝑄 + 𝑎

𝑟
   c) 𝑥 = 𝑒2(𝑛 + 2𝑢)2 

  d) 𝑥 =  𝑔

𝑎 + 𝑏
 e) 𝑥 =  𝑔

𝑎 + 𝑏
 f) 𝑥 =  𝐹2+ 𝑦

2
 

  g) 𝑥 = 2𝑦 − 3 h) 𝑥 = ±√𝑝2 + 1  i) 𝑥 = (
𝑟 − 𝑏

𝑎
)

2

 

  j) 𝑥 = ±√ 
𝑠 − 𝑖𝑗

2𝑘
   k) 𝑥 =  

4𝑦

3
 l) 𝑥 = 𝐶𝑑 − 𝑤2  

  m) 𝑥 =  𝐿2+ 𝑚

4
 n) 𝑥 =  

(𝑢𝑤)2

𝑦
  or  𝑥 =  

𝑢2𝑤2

𝑦
 o) 𝑥 =  𝑇3− 𝑑

5
 

  p) 𝑥 =  𝑦 − 𝑏 + 𝑎𝑚

𝑚
 q) 𝑥 =  360𝐴

𝜋𝑟2   r) 𝑥 =  𝑒2− 𝑓2

2𝑔
 

  s) 𝑥 =  2𝐴 − ℎ𝑦

ℎ
 t) 𝑥 = (𝑛2 + 2𝑛𝑡)2 u) 𝑥 = √

4ℎ+4𝑣

𝑔2

3
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